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QUESTION 1

The company ESXi infrastructure is hosted on the Cisco UCS-B Blade Servers. The company decided to take
advantage of ACI VMM integration to enable consistent enforcement of policies across virtual and physical workloads.
The requirement is to prevent the packet loss between the distributed virtual switch and the ACI fabric. Which setting
must be implemented on a vSwitch policy to accomplish this goal?

A. Static Channel

B. MAC Pinning

C. LACP

D. LLDP

Correct Answer: B

QUESTION 2

What do Pods use to allow Pod-to-Pod communication in a Cisco ACI Multi-Pod environment?
A. over Layer 3 directly connected back-to-back spines

B. over Layer 3 Out connectivity via border leafs

C. over Layer 3 IPN connectivity via border leafs

D. over Layer 3 IPN connectivity via spines

Correct Answer: D

Reference: https://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/application-centric-
infrastructure/white-paper-c11-737855.html

QUESTION 3
DRAG DROP

Drag and drop the Cisco ACI Layer 4 to Layer 7 service insertion terms on the left to the correct descriptions on the
right.

Select and Place:
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concrete interfaces ensures reachability between L3 domains
service graph rendered with local resources that are available in the fabric
device cluster contains an active-standby pair of firewalls or load balancers
VRF stitching encapsulations programrrled.based on their association with
logical interfaces

Correct Answer:
VREF stitching
service graph
device cluster
concrete interfaces
QUESTION 4

Refer to the exhibit.

Create vCenter Domain 00
vcenter redentials: I
Profile name Username Description
I Lab-VCenter admin

wcenter:

Name IP Type Stats Collection
l Lab-VCenter vcenter.aci.lab vCenter Disakled

Port Channel Mode: v
Static Channel — Mode On
LACP Active
LACP Passive
MAC Pinning+

MAC Pinning-Physical-NIC-
load

b
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An engineer is implementing Cisco ACI ?VMware vCenter integration for a blade server that lacks support of bonding.
Which port channel mode results in "route based on originating virtual port" on the VMware VDS?

A. Static Channel ?Mode On

B. MAC Pinning-Physical-NIC-load
C. LACP Passive

D. MAC Pinning+

E. LACP Active

Correct Answer: D

https://www.cisco.com/c/en/us/td/docs/dcn/aci/apic/6x/virtualization/cisco-aci-virtualization-guide-60x/ACI-Virtualization-
Guide-60x-aci-with-vmware-vds.pdf

QUESTION 5

Refer to the exhibit.

<fvTenant name="ACILab">
<fvCtx name="pvnl"/>
<fvBD name="bdl">
<[vRsCLx LnFvClLxName="pvnl"/>
<fvSubnet ip="10.1.100.1/24"/>
</ £vBD>
</ fvTenant>

Which two objects are created as a result of the configuration? (Choose two.)

A. application profile

B. attachable AEP

C. bridge domain

D. endpoint group

E. VRF

Correct Answer: CE

Configure the tenant, VRF, and bridge domain.

This example configures tenant t1 with VRF v1 and bridge domain bd1. The tenant, VRF, and BD are not yet deployed.

Example:
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